

THINKFUL

Ascent Funding Rates and Repayment Examples For Thinkful Programs

Rates, Programs, Repayment Options, are Effective as of 3/29/2021.

The following examples illustrate the loan repayment scenarios for students at the high and low end of the Ascent Funding approved credit range. Loan amounts listed here are the max amount of tuition for each Thinkful program. The tables below display repayment terms including:

- (i) the Tuition Amount
- (ii) the Interest Rate
- (iii) the Annual Percentage Rate (APR)
- (iv) estimated monthly payments, and
- (v) total cost during the life of the private loan.

All Ascent Funding interest rates are fixed for the life of your loan. Your actual interest rate may be different than what is shown in the examples below and will be based on your credit history, selected repayment option, and other factors. The difference between Interest Rate and APR is due to the origination fee and variance in program length. Your payment amounts and total cost may also vary depending upon the length of the program in which you are enrolled and the length of your Grace Period. An Automatic Payment Discount of 0.25% is available when you enroll in automatic payments from your personal checking account and the amount is successfully withdrawn from the authorized bank account each month.

Thinkful Repayment Types:

Immediate Repayment - Make 36 full (principal + interest) payments beginning about one month after your program starts.

Interest-Only Repayment - Make interest-only payments while in school and for three months after, then make 36 full (principal + interest) payments.

Deferred Tuition Loan Repayment - Make no payments until you receive an offer for a qualifying position making at least \$40,000 annually or \$3,333/month pre-tax for 3 months or more. Once you receive an offer for a qualifying position, you'll make 36 full (interest + principal) payments. If you do not receive a qualifying offer within six months of completing your program and you meet the requirements of the Thinkful Tuition Refund Guarantee, your loan will be canceled and you will owe nothing.

Minimum (Lowest Fixed Rate) Payment Example at 3-Year Repayment Term, Interest-Only Repayment

Program Name	Tuition Amount	Interest Rate	APR	No. of Payments In-School/Grace	No. of Payments After Graduation	Total Cost
Data Analytics Flex	\$8,600.00	6.50%	8.79%	9 @ \$48.91	36 @ \$276.76	\$10,403.55
Data Analytics Immersion	\$13,600.00	6.50%	8.95%	7 @ \$77.35	36 @ \$437.67	\$16,374.85
Data Science Flex	\$10,000.00	6.50%	8.79%	9 @ \$56.88	36 @ \$321.81	\$12,097.08
Data Science Immersion	\$20,000.00	6.50%	8.87%	8 @ \$113.75	36 @ \$643.63	\$24,080.64
Digital Marketing Flex	\$6,200.00	6.50%	9.05%	6 @ \$35.26	36 @ \$199.53	\$7,394.64
Digital Marketing Immersion	\$8,300.00	6.50%	9.15%	5 @ \$47.21	36 @ \$267.11	\$9,851.85
Engineering Flex	\$10,000.00	6.50%	8.79%	9 @ \$56.88	36 @ \$321.81	\$12,097.08
Engineering Immersion	\$17,600.00	6.50%	8.87%	9 @ \$100.10	36 @ \$566.39	\$21,291.08
Product Management Flex	\$6,200.00	6.50%	8.79%	9 @ \$35.26	36 @ \$199.53	\$7,500.42
Technical Project Management Flex	\$6,200.00	6.50%	8.87%	8 @ \$35.26	36 @ \$199.53	\$7,465.16
Technical Project Management Immersion	\$10,000.00	6.50%	9.05%	6 @ \$56.88	36 @ \$321.82	\$11,926.59
UX/UI Design Flex	\$10,000.00	6.50%	8.79%	9 @ \$56.88	36 @ \$321.81	\$12,097.08
UX/UI Design Immersion	\$13,500.00	6.50%	8.87%	8 @ \$76.78	36 @ \$434.45	\$16,254.45

Maximum (Highest Fixed Rate) Payment Example at 3-Year Repayment Term, Interest-Only Repayment

Program Name	Tuition Amount	Interest Rate	APR	No. of Payments In-School/Grace	No. of Payments After Graduation	Total Cost
Data Analytics Flex	\$8,600.00	13.75%	16.21%	9 @ \$103.47	36 @ \$307.53	\$12,002.31
Data Analytics Immersion	\$13,600.00	13.75%	16.38%	7 @ \$163.625	36 @ \$486.324	\$18,653.04
Data Science Flex	\$10,000.00	13.75%	16.21%	9 @ \$120.31	36 @ \$357.59	\$13,956.03
Data Science Immersion	\$20,000.00	13.75%	16.29%	8 @ \$240.625	36 @ \$715.183	\$27,671.59
Digital Marketing Flex	\$6,200.00	13.75%	16.47%	6 @ \$74.59	36 @ \$221.71	\$8,429.10
Digital Marketing Immersion	\$8,300.00	13.75%	16.56%	5 @ \$99.859	36 @ \$296.801	\$11,184.13
Engineering Flex	\$10,000.00	13.75%	16.21%	9 @ \$120.31	36 @ \$357.59	\$13,956.03
Engineering Immersion	\$17,600.00	13.75%	16.21%	8 @ \$211.75	36 @ \$629.361	\$24,351.00
Product Management Flex	\$6,200.00	13.75%	16.21%	9 @ \$74.59	36 @ \$221.71	\$8,652.87
Technical Project Management Flex	\$6,200.00	13.75%	16.29%	8 @ \$74.59	36 @ \$221.71	\$8,578.28
Technical Project Management Immersion	\$10,000.00	13.75%	16.47%	6 @ \$120.313	36 @ \$357.591	\$13,595.15
UX/UI Design Flex	\$10,000.00	13.75%	16.21%	9 @ \$120.31	36 @ \$357.59	\$13,956.03
UX/UI Design Immersion	\$13,500.00	13.75%	16.29%	8 @ \$162.422	36 @ \$482.749	\$18,678.34

Minimum (Lowest Fixed Rate) Payment Example at 3-Year Repayment Term, Immediate Repayment

Program Name	Tuition Amount	Interest Rate	APR	No. of Payments Beginning About 1 Month After Program Start	Total Cost
Data Analytics Flex	\$8,600.00	6.50%	9.82%	36 @ \$276.76	\$9,963.36
Data Analytics Immersion	\$13,600.00	6.50%	9.82%	36 @ \$437.67	\$15,756.05
Data Science Flex	\$10,000.00	6.50%	9.82%	36 @ \$321.81	\$11,585.16
Data Science Immersion	\$20,000.00	6.50%	9.82%	36 @ \$643.63	\$23,170.64
Digital Marketing Flex	\$6,200.00	6.50%	9.82%	36 @ \$199.53	\$7,182.90
Digital Marketing Immersion	\$8,300.00	6.50%	9.82%	36 @ \$267.11	\$9,615.82
Engineering Flex	\$10,000.00	6.50%	9.82%	36 @ \$321.81	\$11,585.16
Engineering Immersion	\$17,600.00	6.50%	9.82%	36 @ \$566.39	\$20,390.18
Product Management Flex	\$6,200.00	6.50%	9.82%	36 @ \$199.53	\$7,182.90
Technical Project Management Flex	\$6,200.00	6.50%	9.82%	36 @ \$199.53	\$7,182.90
Technical Project Management Immersion	\$10,000.00	6.50%	9.82%	36 @ \$321.82	\$11,585.34
UX/UI Design Flex	\$10,000.00	6.50%	9.82%	36 @ \$321.81	\$11,585.16
UX/UI Design Immersion	\$13,500.00	6.50%	9.82%	36 @ \$434.45	\$15,640.20

Maximum (Highest Fixed Rate) Payment Example at 3-Year Repayment Term, Immediate Repayment

Program Name	Tuition Amount	Interest Rate	APR	No. of Payments Beginning About 1 Month After Program Start	Total Cost
Data Analytics Flex	\$8,600.00	13.75%	17.21%	36 @ \$307.53	\$11,071.04
Data Analytics Immersion	\$13,600.00	13.75%	17.21%	36 @ \$486.32	\$17,507.66
Data Science Flex	\$10,000.00	13.75%	17.21%	36 @ \$357.59	\$12,873.28
Data Science Immersion	\$20,000.00	13.75%	17.21%	36 @ \$715.18	\$25,746.59
Digital Marketing Flex	\$6,200.00	13.75%	17.21%	36 @ \$221.71	\$7,981.45
Digital Marketing Immersion	\$8,300.00	13.75%	17.21%	36 @ \$296.80	\$10,684.84
Engineering Flex	\$10,000.00	13.75%	17.21%	36 @ \$357.59	\$12,873.28
Engineering Immersion	\$17,600.00	13.75%	17.21%	36 @ \$629.36	\$22,657.00
Product Management Flex	\$6,200.00	13.75%	17.21%	36 @ \$221.71	\$7,981.45
Technical Project Management Flex	\$6,200.00	13.75%	17.21%	36 @ \$221.71	\$7,981.45
Technical Project Management Immersion	\$10,000.00	13.75%	17.21%	36 @ \$357.59	\$12,873.28
UX/UI Design Flex	\$10,000.00	13.75%	17.21%	36 @ \$357.59	\$12,873.28
UX/UI Design Immersion	\$13,500.00	13.75%	17.21%	36 @ \$482.75	\$17,378.96

Payment Example at 3-Year Repayment Term, Deferred Tuition Loan

(Deferred Tuition Loan Rates & Payments Do Not Vary Based On Borrower Credit Profile).

The below examples assume the student receives an offer for a qualifying position and begins repayment 6 months after completing their program. The below values may vary based on the student's repayment start date.

Program Name	Tuition Amount	Interest Rate	APR	No. of Payments Beginning About 6 Months After Program Completion	Total Cost
Data Analytics Flex	\$8,600.00	10.50%	12.31%	36 @ \$324.31	\$11,675.30
Data Analytics Immersion	\$13,600.00	10.50%	12.51%	36 @ \$504.75	\$18,170.89
Data Science Flex	\$10,000.00	10.50%	12.31%	36 @ \$377.11	\$13,575.96
Data Science Immersion	\$20,000.00	10.50%	12.41%	36 @ \$748.23	\$26,936.89
Digital Marketing Flex	\$6,200.00	10.50%	12.61%	36 @ \$228.25	\$8,217.14
Digital Marketing Immersion	\$8,300.00	10.50%	12.72%	36 @ \$303.09	\$10,911.13
Engineering Flex	\$10,000.00	10.50%	12.31%	36 @ \$377.11	\$13,575.96
Engineering Immersion	\$17,600.00	10.50%	12.41%	36 @ \$658.46	\$23,704.45
Product Management Flex	\$6,200.00	10.50%	12.31%	36 @ \$233.81	\$8,417.09
Technical Project Management Flex	\$6,200.00	10.50%	12.41%	36 @ \$231.96	\$8,350.45
Technical Project Management Immersion	\$10,000.00	10.50%	12.41%	36 @ \$368.15	\$13,253.44
UX/UI Design Flex	\$10,000.00	10.50%	12.31%	36 @ \$377.11	\$13,575.96
UX/UI Design Immersion	\$13,500.00	10.50%	12.41%	36 @ \$505.07	\$18,182.41

Ready to get started?

Begin building your future today!
We make funding your education easy.

SEE MY RATES

Questions about Borrowing?

Reach out to bootcamphelp@ascentfunding.com or check out our <u>FAQs</u>.

Ascent Funding, LLC products are made available through Richland State Bank, member FDIC. All loans are subject to individual approval and adherence to underwriting guidelines. Program restrictions, other terms, and conditions apply. Variable interest rates may increase after consummation.

WE RESERVE THE RIGHT TO MODIFY OR DISCONTINUE (IN WHOLE OR IN PART) THIS LOAN PROGRAM AND ITS ASSOCIATED SERVICES AND BENEFITS AT ANY TIME WITHOUT NOTICE. CHECK <u>ASCENTFUNDING.COM/BOOTCAMP-LOANS</u> FOR THE MOST UP-TO-DATE INFORMATION.